EREILXE
2016 FEM T FMARENESZ IR
FHERED: 611 HNEZH: BmEigs 4. 150 43

8 ONHESEHE LIEEN; OB ERUASEETH L, SEX
REARERA LAY OFRBERAEERE—RENKFELHRE !

—. HETE (@55, 3540 53):

=2, MfO=—_ ____, fO=_____ .

oo

B4 f(x) RESRY, B[ f(x—odi=x", M f(x)=

‘ \ o (0 A4
3. WA, BIHANTENE, M| o =

\
K
4. #x, =y —, Mlimx, =
k=1 n n—>w©
|x=F -3z d
5. Mg , Wt =
y =t —b6arctant
e =1
B ?ﬂﬁz . FIF0 2
n=2 R.

7. R y=x"(x>0)tR/MEA

8. Mz y=Inx EHEREKNAN
=, REE (W54, 259!

, . 1+
L ORES f(x)=lim———, T f(x)
>0 ]+ x
(A) ITE{ERMT & (B) FFEMAx=1
(C) HERK A X =1 (D) AR S X =0

0. M#EFH R, a, aZETk HHEP(I=1234)RFFARES

rﬁ]%aly az) a3 i/}JlEﬁr mﬂrﬂ%?ﬂﬂp ﬂz; [63) ﬂ4 E/‘Jﬁ%j.‘j_ ez O
(M1 (B) 2 (C) 3 (D) 4
611 BERHFE F 1T A3 N

3. W AN mxn R, Brank(A)=m<n, WTFHZRERIZ

() AWEEmBTREFETE

(B) AWMEEmAFIAERETTR

(C) 184 AX = b—E BT W

(D) Mk A Bt Ek—ElAn (E, 0)

4. W= E X i Q MEEE z=yx’+y 5 F@E z=1 8 K, Ty
[[Gx+2y+2)dxdydz =
Q

w Z @ = ©) 7z () 27
4 2

5. BEAM e, (Gx+1) E£x =—1Ks MYa,
n=1

n=1

(A) FfEUER (B) #axtistgr  (C) K#k (D) SKEUEAHETE
=. (14 7= f(x,p)EH(a,0) WEANBZATH, BH f(a,0)=a;

Al oy, L el e = £ S (X)),
ox (a,a) ay (a,a)
(1) H#H p(a) @ HH2 9" (x)

xX=a

00, (10 43) % flu,v)BELERSH, BHLTE

Fruv)+ £ () =sin(u+v)e™ , R y(x)=e* £ (x,x) Fik 2t —H
NHRE, FHRHEEE.
. (1049 BEM f(x)iELE, B f(O0)=a, &

F@)=|[[lz+ f(x* + y* +27)]dv,

F(t
HePQyx? + p? <7< —x7 - y*,Klim (3)0

-0 f
v (10 49) B xopFPELHEHNHD ={(x,y):0<x<1,0< p <1} RELK
I:x+y=1t(t=0), #s(t) RTREFHDRTFELI L THBAMER, HR

611 BImERHE F2 R £ 3 N



4 [ s(o)dt(x > 0) rfe.

+. (124 BZRE

(X%, X%,) = X2+ X7 +X; —2x,X, = 2X,X; + 2ax,X,(a <0) B EXE

WL RRRIER 292 + 22 + byl .

(1) k%% a,b; (2) RIERZZHFEF.
ax, +(a+3)x, +x; =-2,

ML (1043) % a BTER, HIEMALX, +ax, + X, =a, . B
X, +x,+ax, =a’

THFEANR? EELFH LN, RHUIERE.

j1u\ (12 ﬁ}) iﬁal =2,an+1 2%((1” +—1—)(n=1’2,"')7 iEBH:
(1) %5 {a, HH8L: @ BHY | — -1 [,
n=!\a"+1

+. WEE (104 Rz=zx,y)RETE

x2—6xy+10,2 —2yz— 2> +18= 0B EMEL, KKz =z(x, y) HRES
FARAR «

611 BMEREF F 3 H 3N



